
α)	
  Η	
  ακτίνα	
  ΟΜ	
  έχει	
  άκρο	
  το	
  σημείο	
  επαφής	
  Μ	
  άρα	
  είναι	
  κάθετη	
  στην	
  εφαπτομένη	
  

ΔΓ.	
   Η	
   διακεντρική	
   ευθεία	
   ΡΟ	
   διχοτομεί	
   τη	
   γωνία	
   των	
   εφαπτομένων	
   ΡΑ	
   και	
   ΡΒ,	
  

δηλαδή	
   την	
  ΑΡΒ.	
  Οπότε	
  στο	
   τρίγωνο	
  ΡΓΔ	
  η	
  ΡΜ	
  είναι	
  ύψος	
   και	
   διχοτόμος,	
  άρα	
   το	
  

τρίγωνο	
  είναι	
  ισοσκελές.	
  

	
  

	
  

	
  

	
  

	
  

	
  

β)	
  Το	
  άθροισμα	
  των	
  γωνιών	
  του	
  τετραπλεύρου	
  ΟΑΡΒ	
  είναι	
  3600.	
  Οπότε:	
  

ΑΟΒ+ Α+ Β+ Ρ	
  =	
  3600	
  ⇔	
  ΑΟΒ+	
  900	
  +	
  900	
  +	
  400	
  =	
  3600	
  ⇔	
  ΑΟΒ	
  =	
  1400.	
  


